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Mean & Std Dev for "Sample" Data

Mean & Std Dev for grouped "Population” data

Sample 1 Sample 2 Sample 3 Sample 4 X f f.x X"2 f.xA2 f- Acc
51 47 43 47 37 2 74 1369 2738 2
47 47 43 39 39 4 156 1521 6084 6
45 41 49 47 41 10 410 1681 16810 16
45 49 37 43 43 15 645 1849 27735 31
43 47 45 43 45 19 855 2025 38475 50
41 41 45 53 47 19 893 2209 41971 69
47 45 51 51 49 15 735 2401 36015 84
43 39 39 47 51 10 510 2601 26010 94
43 49 45 41 53 4 212 2809 11236 98
55 2 110 3025 6050 100
(Above sample obtained using random numbers & f-Acc)
(Sample size = 9) Sum => 100 4600 213124
Sample Mean _ 45.00 45.00 44.11 45.67 x => lengths of garden lizards
Mean = Sum(f.x)/sum(f)
— Mean of Sample Means = 44.94 Std Dev (Pop) = Sqrt[ ( Sum(f.xA2)/Sum(f) ) - Mean”2) ]
SD (N) [ 283 3.53 4.12 4.32 | PopMean=  46.00 Pop Std Dev=__ 3.90 |
SD (N-1) | 3.00 3.74 4.37 4.58
[Mean of SD(N) 3.70 | | Mean of SD(N-1) 3.92

"Mean of SD(N-1) values" - gives an estimate of the "Population Std Dev" {Almost perfect for this Example

"Mean of Sample Means" - gives an estimate of the "Population Mean"

Notes: 1. Bessel Correction Factor = Sqrt ( N/(N-1) ) =Sqrt (9/(9-1)) =1.1
2. SD(N-1) = SD(N) x Bessel Correction Factor
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